Event Number	E-22-22
Event Title	N.E. 3rd Street & N.E. 4th Street Storm Drainage Improvements (State Revolving Fund)
Event Type	ITB
Issue Date	6/30/2022 08:50:27 PM (ET)
Close Date	8/8/2022 02:00:00 PM (ET)

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total
Southeastern Engineering			8/9/2022 12:20:01 DNA (FT)	25	
Contractors, Inc.	Pembroke Pines	FL	8/8/2022 12:20:01 PM (ET)	25	\$940,846.60
Sun Up Enterprises	Weston	FL	8/8/2022 01:19:51 PM (ET)	25	\$1,099,600.00
Southern Underground			8/8/2022 01-10-40 DN4/FT)	25	
Industries	Pompano Beach	FL	8/8/2022 01:10:40 PM (ET)	25	\$1,298,460.00
C&W pipeline,inc.	Opa-locka	FL	8/8/2022 01:04:22 PM (ET)	25	\$1,371,424.00
DP Development, LLC.	Pompano Beach	FL	8/8/2022 10:55:07 AM (ET)	25	\$1,764,260.40
Lanzo Construction Company					
(Lanzo Construction Co.,			8/8/2022 01:22:43 PM (ET)	25	
Florida)	Deerfield Beach	FL			\$1,948,933.00

				Southeasterr Contract	n Engineering cors, Inc.	Sun Up Enterprises		Southern Underground Industries	
				Total Price	\$940,846.60	60 Total Price \$1,099,600.00		Total Price	\$1,298,460.00
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
1	Indemnification	1	LS	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
2	Contingency Allowance	1	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
3	Permit Fee Allowance	1	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
4	Mobilization	1	LS	\$67,623.00	\$67,623.00	\$145,000.00	\$145,000.00	\$118,300.00	\$118,300.00
5	Maintenance of Traffic	1	LS	\$15,744.00	\$15,744.00	\$40,000.00	\$40,000.00	\$26,600.00	\$26,600.00
6	Clearing Grubbing	1	LS	\$22,713.00	\$22,713.00	\$15,000.00	\$15,000.00	\$18,800.00	\$18,800.00
7	Soil Testing Services	1	LS	\$6,144.00	\$6,144.00	\$7,500.00	\$7,500.00	\$1,740.00	\$1,740.00
8	Erosion / Pollution Control	1	LS	\$4,928.00	\$4,928.00	\$15,000.00	\$15,000.00	\$14,500.00	\$14,500.00
9	Tree Protection	1	LS	\$1,920.00	\$1,920.00	\$5,000.00	\$5,000.00	\$2,280.00	\$2,280.00
10	48" Drainage Structures	12	EA	\$5,340.00	\$64,080.00	\$8,000.00	\$96,000.00	\$6,700.00	\$80,400.00
11	Type C Drainage Structures	13	EA	\$4,820.00	\$62,660.00	\$7,150.00	\$92,950.00	\$5 <i>,</i> 900.00	\$76,700.00
12	12" HDPE Exfiltration Trench	1371	LF	\$152.00	\$208,392.00	\$175.00	\$239,925.00	\$295.00	\$404,445.00
13	15" 18" PRB	16	EA	\$452.00	\$7,232.00	\$800.00	\$12,800.00	\$1,290.00	\$20,640.00
14	Solid 18"x12" ERCP including inverted weir								
14	PRB's	210	LF	\$142.00	\$29,820.00	\$185.00	\$38,850.00	\$152.00	\$31,920.00
15	Solid 18" HDPE	367	LF	\$102.00	\$37,434.00	\$120.00	\$44,040.00	\$85.00	\$31,195.00
16	Solid 12" HDPE	387	LF	\$93.00	\$35,991.00	\$95.00	\$36,765.00	\$70.00	\$27,090.00
17	Asphalt Pavement Restoration	2892	SY	\$47.00	\$135,924.00	\$28.00	\$80,976.00	\$33.00	\$95 <i>,</i> 436.00
18	Asphalt 1" Milling Overlay	5492	SY	\$18.60	\$102,151.20	\$17.00	\$93,364.00	\$22.00	\$120,824.00
19	Furnish and Install Grass for Homeowner								
19	swale restoration	5000	SF	\$1.10	\$5,500.00	\$2.00	\$10,000.00	\$1.00	\$5 <i>,</i> 000.00
20	Furnish and Install Pavement Markings	1	LS	\$4,314.00	\$4,314.00	\$4,500.00	\$4,500.00	\$2,000.00	\$2,000.00
21	Excavate 1 - Foot Deep Swales New Sod @								
21	24 locations	5520	SF	\$2.40	\$13,248.00	\$1.25	\$6,900.00	\$3.00	\$16,560.00
22	Restoration Harbor Drive - Sidewalk	1	SF	\$13.90	\$13.90	\$10.00	\$10.00	\$28,800.00	\$28,800.00
23	Restoration Harbor Drive - Swale	1	SF	\$2.30	\$2.30	\$1.25	\$1.25	\$21,600.00	\$21,600.00
24	Restoration Harbor Drive - Roadway	1	SF	\$2.20	\$2.20	\$8.75	\$8.75	\$38,620.00	\$38,620.00
Bid Alternate: City reserves the right to award with or without the									
value of the bid alternate.									
	Sanitary Sewer Lateral Replacement (Refer								
25	to Paving, Grading Drainage Notes on "C"								
	Dwgs.)	1	EA	\$1,024.00		\$4,500.00		\$3,770.00	

				C&W pip	peline,inc.	ne,inc. DP Development, LLC.		Lanzo Construction Company (Lanzo Construction Co., Florida)	
				Total Price	\$1,371,424.00	Total Price	\$1,764,260.40	Total Price	\$1,948,933.00
Line		QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
1	Indemnification	1	LS	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
2	Contingency Allowance	1	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
3	Permit Fee Allowance	1	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
4	Mobilization	1	LS	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	\$250,000.00	\$250,000.00
5	Maintenance of Traffic	1	LS	\$45 <i>,</i> 000.00	\$45,000.00	\$68,500.00	\$68,500.00	\$15,000.00	\$15,000.00
6	Clearing Grubbing	1	LS	\$5,000.00	\$5,000.00	\$124,500.00	\$124,500.00	\$50,000.00	\$50 <i>,</i> 000.00
7	Soil Testing Services	1	LS	\$4,500.00	\$4,500.00	\$17,000.00	\$17,000.00	\$15,000.00	\$15,000.00
8	Erosion / Pollution Control	1	LS	\$5,200.00	\$5,200.00	\$5 <i>,</i> 550.00	\$5,550.00	\$80,000.00	\$80,000.00
9	Tree Protection	1	LS	\$3,600.00	\$3,600.00	\$20,450.00	\$20,450.00	\$25,000.00	\$25,000.00
10	48" Drainage Structures	12	EA	\$10,500.00	\$126,000.00	\$10,500.00	\$126,000.00	\$10,000.00	\$120,000.00
11	Type C Drainage Structures	13	EA	\$9,000.00	\$117,000.00	\$9,200.00	\$119,600.00	\$9,000.00	\$117,000.00
12	12" HDPE Exfiltration Trench	1371	LF	\$285.00	\$390,735.00	\$223.00	\$305,733.00	\$300.00	\$411,300.00
13	15" 18" PRB	16	EA	\$1,650.00	\$26,400.00	\$990.00	\$15,840.00	\$750.00	\$12,000.00
1.4	Solid 18"x12" ERCP including inverted weir								
14	PRB's	210	LF	\$185.00	\$38,850.00	\$186.50	\$39,165.00	\$315.00	\$66,150.00
15	Solid 18" HDPE	367	LF	\$165.00	\$60,555.00	\$156.00	\$57,252.00	\$115.00	\$42,205.00
16	Solid 12" HDPE	387	LF	\$130.00	\$50,310.00	\$123.00	\$47,601.00	\$90.00	\$34,830.00
17	Asphalt Pavement Restoration	2892	SY	\$32.00	\$92,544.00	\$111.00	\$321,012.00	\$115.00	\$332,580.00
18	Asphalt 1" Milling Overlay	5492	SY	\$15.00	\$82,380.00	\$18.45	\$101,327.40	\$35.00	\$192,220.00
10	Furnish and Install Grass for Homeowner								
19	swale restoration	5000	SF	\$3.00	\$15,000.00	\$5.20	\$26,000.00	\$5.00	\$25,000.00
20	Furnish and Install Pavement Markings	1	LS	\$9,000.00	\$9,000.00	\$4,000.00	\$4,000.00	\$18,000.00	\$18,000.00
24	Excavate 1 - Foot Deep Swales New Sod @								
21	24 locations	5520	SF	\$4.50	\$24,840.00	\$9.00	\$49,680.00	\$5.00	\$27,600.00
22	Restoration Harbor Drive - Sidewalk	1	SF	\$2,000.00	\$2,000.00	\$15.00	\$15.00	\$20.00	\$20.00
23	Restoration Harbor Drive - Swale	1	SF	\$3,000.00	\$3,000.00	\$5.00	\$5.00	\$3.00	\$3.00
	Restoration Harbor Drive - Roadway	1	SF	\$4,500.00	\$4,500.00	\$20.00	\$20.00		\$15.00
Bid Alternate: City reserves the right to award with or without the									
value of the bid alternate.									
	Sanitary Sewer Lateral Replacement (Refer								
25	to Paving, Grading Drainage Notes on "C"								
	Dwgs.)	1	EA	\$12,500.00		\$5 <i>,</i> 100.00		\$3,500.00	

Line	Attribute Name	Southeastern Engineering Contractors, Inc.	Sun Up Enterprises	Southern Underground Industries	C&W pipeline,inc.	DP Development, LLC.	Lanzo Construction Company (Lanzo Construction Co., Florida)
1	Conflict of Interest	No	No	No	No	No	No
2	Vendor Certification Regarding Scrutinized Companies Lists (Over \$1,000,000.00)	Certified	Certified	Certified	Certified	Certified	Certified
3	Substantial Project Completion	90	190	180	270	240	90
4	Final Project Completion	30	30	30	30	270	120
5	Drug-Free Workplace	Yes	Yes	Yes	Yes	Yes	Yes
6	Terms & Conditions	Agree	Agree	Agree	Agree	Agree	Agree
7	Acknowledgement of Addenda	Yes	Yes	Yes	Yes	Yes	Yes